CHM 151/54 Quiz #5a 25 Pts Fall 05 Name: KW
SHOW ALL WORK TO RECEIVE CREDIT
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8 Pts) Determine the [H'], [OH], pH, and the pHPf each of the following. - )
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2. (6 Pts) Determine the pH of a titration solution when 25.00 mL of 0.15 M HCI 1s titrated with 15 20 mL of
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3. (6 Pts) Lactic acid, HC3H;50,, has one acidic hydrogen. AUI0M solutlon of lactic acid has a pH of 2.44.
Calculate the Ka for lactic acid. ¢ o
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4. (5 Pts) The acid-dissociation constant for benzoic acid, HC;HsO,, is 6.3 x 10 Calculate the pH of a 0.050 M
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CHM 151/54 Quiz #5b 25 Pts Fall 05 Name: }’<€J~4
SHOW ALL WORK TO RECEIVE CREDIT
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1. +S P:sy» Determine the [H'], [OH’), pH, and the p}f’gf each of the following.
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2. 16 Pts) Determine the pH of a titration solution when 25.00 mL of 0.18 M HCl is titrated with 19.20 mL of
0.14 M NaOH. :Trc'r, Ac - ST{(" g B‘:\f‘-"‘:’ »_[/_j as, = M \_‘)n“L - H;\ + /,p,w&,/,

Nt e, E;,, /*% “  Of" —}/f‘AQ j I:/ fe .
T T 95 00 0 Vim )i BT g s et

[ ) oottt [ )pvei hn = .
Towe paroolt - 9,20 N‘a“}g Ho o fathh | | o] OH - 0‘00159/"’30/0#

[ 1ooS I puet [ |kt 5.0018 1ms XS BT
S H = “}J-,, O 00182 mf pt
) LD - —_ 1,3..537

T hY ey i

JE—

3 Pwsi The acid-dissociation constant for benzoic acid, HC7H50,, is 6.3 x 10'5’..Calculate the pH of a 0.060 M
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4. (6 Pts) Lactic acid. HC3;H;s0O,, has one acidic hydrogen. A 0.10 M solution of lactic acid has a pH of 2.44.

Calculate the Ka for lactic acid. - 60 2 \Q\
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